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(B [ e Division (tvasiffrig)

namn: Datum: Poéng:
80+ 5= 6+6= 65+5= 66+ 2= 30+6=
27 +3= 50+5= 10+5= 84 +4= 57+3=
42 +2 = 6+2= 36 +4= 21 +3= 16+4=
56+2= 32+8= 86+2= 49 + 7 = 36 +9=
3+2= 57+3= 60+ 3= 91+7= T2+2=
80+ 8= 36 +9= 54+3= 84+2= 8+8=
78+3= 64+8= 42 +7= 24+8= 33+3=
N+2= 5+5= 88+ 8= 72+3= 9+9=
99 +3= 4+4= 52+4= 84+6= 38+2=
50+2= 42 +3= 72+8= 72+4= 84 +2=
77+17= 66 +3 = 38+2= 8§+4= 20+5=
34+2= 75+3= 50+2= 26+2= 48 +4 =
5S+5= 96 +3 = 2+4= T=7T= 65 +5=
3R2+2= 44+ 4= 45+ 5= 21 +3= 4+3=
27+9= 52+4= 40+ 8= 42 +7= 18+6=
42 +3 = 80 +2= 63+9= 14+7= 42 +6=
42 +2= 36+2= 91+7= 10+2= 52+2=
78+3= 2+2= 60 +4 = 8+4= 30+5=
50+2= 60+ 3= 50+2= 30+2= 80+ 4=
99 +9= 32+8= 16+ 8= 52+4= 96 + 8 =
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